

*Alg2

⑦ $g(a) = -3a^2 + 2$ find $g(-2)$

$\downarrow$
 $g(-2) = -3(-2)^2 + 2$

$g(-2) = -10$

③⑦ $h(N) = N^2 - 4N$ find $h(N^2)$

$h(N^2) = (N^2)^2 - 4(N^2)$

$h(N^2) = N^4 - 4N^2$

Algebra 2
Class Notes

TUESDAY

8-21-12

② $g(N) = -N^3 - N^2$ find $g(-3+N)$

$$g(N-3) = -(N-3)^3 - (N-3)^2$$

$$-[(N-3)(N-3)(N-3)] - [N^2 - 6N + 9]$$

$$-[(N^2 - 6N + 9)(N-3)] - N^2 + 6N - 9$$

$$-\left[\begin{array}{l} N^3 - 6N^2 + 9N \\ -3N^2 + 18N - 27 \end{array} \right] - N^2 + 6N - 9$$

$$-\left[N^3 - 9N^2 + 27N - 27 \right] - N^2 + 6N - 9$$

$$\underline{-N^3} + 9N^2 - 27N + 27 - N^2 + 6N - 9$$

$$\boxed{-N^3 + 8N^2 - 21N + 18}$$